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1. Gauss's divergence thaorem is

) jjr’f-ﬁds=jjjdivﬁdv (2) jjl‘f-ﬁds=jjjcur|r=dv
S A" S S

(3) Cﬁ F.dr= ”curl F.Ads (4) None of the above
c v |

2. The value of @[(xy +y2)dx + xzdy] by Green's theorem is , where C is
- C

closed curve of the region bounded byy=xand y=x2.

1 ' 1
(1) _5(1)—6 (2) 50 (3) ETs) (4) None

3. The value of an improper integral J' 1 1 ~dx =
+X
0

M) 275 @ 3 @ wWZ @

4. Which of the following differential equation is linear ?
(1) y+x)y'+y=1 () 3y +(x+4)y=x2+y
(3) y"=cos(2+y) (4) y™ + X y” + cos(x) = e

5. TheP.D.E.is :)2;' + 58‘1282y 3;22 = y—12
8. C.F.=0(y +2x) + d,(y + 3x)
b. C.F.=0,(y - 2x) + ¢, (y —3x)
C. P.l=x-(y-3x)log(y-2x)
d. P.l=x+(y~-3x)log (Y+2%)

Which of the statements given above is/are correct ?

then
X

(1) Onlyaandec (2) Onlyaandd
(3) Onlybandc (4) Onlybandd
o1 HIATATS TR/ SPACE FOR ROUGH WORK
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6. Given A={-6 7 -4
2 -4 3

a. The characteristic equation is |A—AI|=0.

b. The characteristic equation is |A+Al|=0.

¢. The characteristic roots (Eigen values) are 0, 3, 15.

d. The characteristic roots (Eigen values) are 1, 5, 12.

Which of the statements given above is/are correct ?

(1) Onlyaandd (2) Onlybandc (3) Onlybandd (4) Onlyaandc

7. Probability density function P(x) of a random variable x as shown below, the value

of o is
YA
uq.,-.-....—_-—.—_..
- —>X
0 - a a+b a+c
y 2 2 gL 2

8. There are 100 tickets numbered from 1 to 100. They are well shuffled and a ticket is
drawn at random. The probability that the number on the ticket drawn is
a. anevennumberis 0.5
b. 5 or multiple of 5is 0.2
c. greaterthan75is0.25

d. is a square of integer 0.15
Which of the statements given above is/are correct ?

(1) Onlyaandd (2) Onlyb
{3) Onlya,bandc (4) Onlycandd

oA THIMTATS! WOT /SPACE FOR ROUGH WORK
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9. If %xy- =1+y? » where y = 0 when x = 0, then by using numerical technique y(0.4) =
(1) 0.2356 (2) 0.4134
(3) 0.4228 : (4) 0.4021

10. A car hire firm has two cars which it hires out day by day. The number of demands
for a car on each day is distributed as a Poisson distribution with mean 1.5. Then

the number of days in a year on which some demand is refused are
(1) 70 days (2) 68 days
(3) 71 days (4) 72 days

11. A surfacerpassing through the curves z=0, y? =4ax and z = 1, y? =-4ax and

Pz .oz

satisfying x—5-+2-==0is

fyg ox*  ox
(1) daxy-xy®*+y=0 (2) 8axz-4ax+y2=0
(3) axz+4ay+y2=0 (4) None of these

12. The valueof _Ucurl viids,where v = iy + jz + kx, Sis the surface of the paraboloid
S .

z2=1-x?~-y?, 220 and 1 is the unit normal to S is

(1) 3n @ 6
3) 4n | 4) =

ce? x>0

13. The density function of a random variable X is f(x)= )
0  otherwise

then median is
(1) 0.5066 (2) 0.2466

(3) 0.3466 | (4) 0.2566

FSeAT HTATATS! AT/ SPACE FOR ROUGH WORK
A P.T.O.
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14. If the function f(x) = 2x® - 9kx® + 12k?x + 1, where k > 0 attains its maximum and

minimum at p and q respectively such that p? = q, then k =

(2 2

3 [ORN

{1)
(3) 1 (4) 3

15. The general term in the expansion of cosh z with the help of Taylor's series is

2n+1 zzn
M s @ 2n
(3) %,- (4} None of these

16. Giventhe vectors (1,1, 0), (3,1, 3)and (5, 3, 3)

The vectors are linearly independent

o o

The vectors are linearly dependent
c. (1,1,0+(3,1,3)+(5,3,3)=0
d (1,1,0+(3,1,3)+(5,3,3)# 0
(1) Onlybandd
(2) Onlybandc
(3) Onlyaandc
(4) None

17. a. f(z) = 2xy +i(x* — y?) is not analytic anywhere.
b. f(z) =z| z| is analytic anywhere.
c. f(z)=7Z is not analytic anywhere.
d. f(z)=|z]| is continuous at every point.
Which of the statements given above is/are true ? ~.
(1) Onlyaistrue (2) aandc are true

(3) Only dis true (4) a,banddare true
FHoAT BT AT /SPACE FOR ROUGH WORK
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18. IfF=xi+yj+zk, thenT is
(1) Irrotational (2) Solenoidal

(3) Scalar (4) None of these

1y
19. The value of integral ”xye"‘zdy dx is
00

1 1 2

(1) 4e @ 75 @ 5 (4) e
20. The value of the double integral ”(x"‘-g-y?)dxdy: , where R is the
R
square shown in figure.
y4
A\
0// \PO'

] RERHAN!

0\\\/// .Y
m 2 @ + @ - @ 2
21. Iff(s)= J2;—+3 then g_—‘f(s) is
Mm% @ e
(3) "\/;_—mehét (4) None

T HIATATS! AT /SPACE FOR ROUGH WORK
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22, If A and B are symmetric matrices of the same order, then which one of the following
is not correct ?

(1) A+ B is a symmetric matrix
(2) AB - BA is a symmetric matrix
(3) AB + BA is a symmetric matrix

(4) A+AT and B + BT are symmetric matrices

12
23. If A= then

a. EigenvaluesofA=41
b. Eigén values of A =4, —1

c. Eigenvalues of AT = 4, -1

1

d. Eigen values of A~ = = —1.
(1) Only a (2) Onlybandc
(3) Onlyb,candd {4) Onlyaandd

24. The Laurent series for f(z) = if|z|>2is

(22 -1)(22 + 4)

m Xz

(2) 2( Ui (1+4")

2n-1

1+4n b

s =
(3) Ezz

ca n—1
@ 33 S (-4
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25. LetAbe a2 x 2 matrix which satisfy A? - A =0, then

10 -1 0
is eith -
(1) Alis either [0 1] or[ 0 _1]

(2) There exists infinitely many such matrices

(3) There exists no such matrix

(4) A must be diagonal

26. A two port network is represented by ABCD parameters given by

MENHIN

If port 2 is terminated by R, then input impedance seen at port 1.is given by

A+BR, AR_+C
(") CiDR, R @} BR_+D
DR, +A B+AR,
) BR_+C “4) DrcR,

27. Aniron ring of mean circumference 80 cm is made from round iron of area 8 cm2., It
has a saw cut of 2 mm wide and is wound with 500 turns. The current required to
produce a flux of 0.8 mWb across the air gap is
[Relative permeability of iron is 625 and leakage factor is 1.25]

(1) 5.72A (2) 6.03A (3) 469A (4) 1.39A

28. The value of Va in the circuit shown below is

200
MW—
T Va” 100
av(*
C> v, §4OQ
2
(1) 5V (2) 10V (8) 15V (4) 55V

HoSHT SHIHTATS! AT/ SPACE FOR ROUGH WORK |
A P.T.O.
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29. The value of Je‘s‘zdt is
0
1 [n T 1 \/E T

(1 ~545 (2 \E ® 3v3 i
30. For a network shown below, the switch S is closed and a current 1A is flowing in

the circuit. Now switch is opened. The current in the circuit will be

S 6 ohm
o 2X o AW
L_‘*.,:'_._
+ 24V
1 I 5H

12V _T o ¥

(1) 3A (2) 3-3e~6/t

(3) 6 — 5e-GISt (4) 5g—6/5t
31. The magnetic field required to reduce the residual magnetization zero is called

(1} Retentivity (2) Coercive force

(3) Hysteresis (4) Saturation magnetization
32. The quality factor of a coil for the series circuit consistingof R=10Q, L=0.1 H and

C=10 uF is

(1) 10 (2) 20 (3) 100 ‘ (4) 30
33. The Fourier transform of two sided exponential function f(t)=e™® fort>0

=e* fort<0
is given by
- 5 —20_
) A v @) 2 P
3 2a+o) 4) N f the abov
(3) PRI (4) None of the above

o1 HIATHTA! FATTT/SPACE FOR ROUGH WORK
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34.

1
jo+3
For a particular input x(t), this system is observed to produce the output

Consider a causal LTI system with frequency response H(jo)=

y(t) =e~3t(t) —e~Hu(t).

Then x(t) is
(1) x(t)=e~*u(t) (2) x(t)=e"3tu(t)

(3) x(t)=-e~4u(t) - (4) x(ty=—e"3tu(t)

35.

The time shifting property of Z-transform i.e. Z-transform of x{n — ngylis
(1) z7°X[z] (2) ZMX[Z]

(3) X(Z+Z,) ' (4) X[Z,)

36.

A continuous time periodic signal x(t) is real valued and has a fundamental period
T =8, the non-zero Fourier series coefficients forx(fyare a, =a_, =2, a, =a’; =4j

x(1) in the form

x(t) = 2 Ak cos(myt +dy) is given by
K=0

1 ~4cos T4+ F LI
(1) x(t) 4cos(4t+2)+8006(4t+2)

_ T 3n
(2) x(t)= 2cos(zt)+ 4cos[-—-4-t)

(1 3n, &
3) x(t)=4cos| =t |+8cosf Z—t+=
@ >0 \4 }L (4 t+2)

‘n, n) 3n, =«
4) x(t)=2cos| —t+— |[+4cos| —t+—
@ =200 2] [4 2]

A

ool FHTATHTS! JARTT/SPACE FOR ROUGH WORK
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37. I x4[n] =2"u[n] and x,{n] = u[n — 1] then, Z transform of y{n] =x,[n] . x,[n}is

(1) —Z ___Rociz|>2
(Z-1(Z2-2)
z
@) i g ROCIZ1>2
(3) (—Z:hROC|Z|<2
22
@ s RoCIZi<

38. A discrete-time system is described by following i/p-o/p relationship

n+2

y(n)= X(K)

k=n-2
This system is

(1) Non-linear, Time-invariant (2) Non-linear, Time-variant

(3) Linear, Time-invariant (4) Linear, Time-variant

s+3
39. For F(s)=———  the inverse Laplace transform for -2 < Re(s) < —1is
(s) G072 inverse Lap < Re(s) <

(1) 2et-e™? (2) —2e7tu(-t)—elu(t)

(B) —2e+e7* (4) 2etu(-t)+e?lu(t)

‘40, A 500 kVA transformer with 0.01 pu resistance and 0.05 pu reactance connected in

parallel with a 250 kVA transformer with 0.015 pu resistance and 0.04 pu reactance.
The secondary voltage of each transformer is 400 V on no load. How they share a
load of 750 kVA at power factor 0.8 lagging ?

(1) 375 kVA at 0.8 lagging power factor each
(2) 500 kVA at 0.8 PF lagging and 250 kVA at 0.8 PF lagging
(3) 471 kVA at 0.762 lagging PF and 281 kVA at 0.856 PF lagging

(4) 550 kVA at 0.7 lagging PF and 200 kVA at 0.85 lagging PF
ST HINTATE! AT /SPACE FOR ROUGH WORK
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41. A 480V, 60 Hz, three phase, four-pole induction motor has following parameters
R; =0.3 ohm, R, =0.2 ohm, xeq = 2.0 ohm
Atfullload, the motor speed is 1760 rpm. The developed full load torque and copper
losses in motor are
(1) 110.5 N-m and 0.9 KW
(2) 121.46 N-m and 1.27 KW
(3) 141.3 N-m and 1.5 KW
(4) 132.7 N-mand 1.4 KW

42. A14.92KW, 400V, 400 rpm dc shunt motor draws a current of 40 A when running
at full ioad. The moment of inertia of the rotating systemis 7.5 kg —m?. if the starting
current is 1.2 time full load current, full load torque is
(1) 356 N-m (2) 278 N-m (3) 465 N-m (4) 257 N-m

43. Three 1100/110 V transformers connected A/ A supply a lighting load of 100 KW.
One of these transformers is damaged and hence removed for repairs. The primary
current flowing through each transformer when two transformers are in service, is
(1) 303 A (2) 30.3A (3) 525 A : (4) 525 A

44. A 4 pole lap wound dc generator has a developed power of P watts and voltage of
E volts. The adjacent brushes of the machine are removed as they are worn out. If
the machine operates with the remaining brushes, the developed voltage and power
that can be obtained from the machine are
(1) B4 and Py (2) Eand P
(3) Eand P/ (4) Eand P/

45. Two transformers of identical voltages but different capacities are operating in

parallel. For satisfactory load sharing
(1) Impedances must be equal
(2) Per unitimpedances must be equal

X :
(3) Per unitimpedances and ) ratio must be equal

X
(4) Impedances and R ratio must be equal

FHoeAT HWTATST IR /SPACE FOR ROUGH WORK

A
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46. A four pole generator having wave wound armature winding has 51 slots, each slot
containing 20 conductors. The voltage generated in the machine when driven at
1500 r.p.m., assuming the flux per pole to be 7 mWhb is

(1) 185.7V (2) 1785V
(3) 270.3V (4) 157.8V

47. in a S.C. test on a circuit breaker, the following data was obtained on frequency
transient.

a) Time to reach peak restriking voltage = 55 psec.

b) Peak restriking voitage = 100 KV.

The average rate of rise of restriking voltage is given by

(1) 0.91 KV/u sec (2) 0.455 KV/psec
(3) 1.82 KV/u sec (4) None of the above

48. A 275 KV transmission line has the line constants A = 0.85 £5°, B = 200 £75° . If
voltage profile at each end is to be maintained at 275 KV, what will be the receiving
end power at unity power factor ?

(1) 227.6 MW (2) 117.7 MW

(3) 109.9 MW (4) 258.9 MW

49. If p-qis a branch, a new bus is added to the partial network of ‘n’ bus system and
the resultant impedance matrix is of dimensions

(1) (n+ 1) x(n+1) (2) (n+1)x(n—1)
(3) (n=1)x{n+1) | (4 nxn

50. A50MVA, 11 KV, 3 phase alternator was subjected to different types of faults. The
fault currents were : 3 phase fault 1870 A, line to line fault 2590 A and singie line to
ground fault 4130 A. The alternator neutral is solidly grounded. The three sequence
reactances of alternator in pu are
(1) Xy =1.4pu, X,=0.35puandX;=0.15pu
(2) Xy=1.7pu, X,=0.35pu and X, =0.25 pu
(3) Xy=1.5puy, X, =0.5puand X, = 0.2 pu
(4) X,=1.2pu, X, =0.4puandXy= 0.12pu

FHooq1 HTATHTAT STATT/ SPACE FOR ROUGH WORK
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51. A 4 bus system is shown below and line admittances are given in table :
1 | 2

Line G*jB

1-3 1-j3
2-3  067-j2
2-4 1-j3
3-4 26

The Y, , matrix is

[ 1-j3 0 -1+j3 0
v - 0 167-55 -067+]2 -1+3
Ml 14j3 -0.67+2 36711 -2+j6
0 -1+j3  -2+j6 3-j9 |
ForY,  matrix,

(1) Only diagonal elements are correct
(2) Only off diagonal elements are correct
(3) Both (1) and (2) are incorrect

(4) Both (1) and (2) are correct

52. 3-ph alternator delivers 1.0 pu at 50 Hz to an infinite bus bar through transmission
line. When subjected to fault, the maximum power reduced to 0.5 pu, whereas before
the fault it was 2.00 pu and after clearance of fault 1.4 pu. Find critical clearing
angle using equal area criteria.

(1) 30 degree (2) 71.29 degree
(3) 41.52 degree (4) 62.93 degree
HEqT WINTHTS! ST/ SPACE FOR ROUGH WORK
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53. Which of the following statements are valid for HVDC transmission system ?

a.
o.
C.
d.

No spin effect
No stability problem
There is spin effect

There is stability problem. /

(1) aandd (2) bandc

(3) aandb (4) a

54. An open loop system is described by a transfer function G(s) =S£4. Root locus of

the system is

(1)

(2)

N
3%
v ‘

FHoe] TS ST/ SPACE FOR ROUGH WORK
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K
55. A unity feedback system has open loop TF S)= .
ty y P p TF G(s) s6+2)
For closed loop system to have steady state unit ramp error of 0.1, value of ‘K’
required is
(1) 40 (2 20 ' (3) 10 (4) None of the above

56. The state transition matrix of the system x = Ax with initial condition x(0) is
(1} (Si-A)" (2) eMx(0)

(3) Laplace inverse of [(SI—A)“] (4) Laplace inverse of [i5)- Ay x(0)]

57. Forthe system

o 3ol

Y=[1 0]X

Which of the following statements are true ?

(1) System is controltable and observable

(2) System is controllable and not observable

(3) System is not controllable and not observabie
(4) System is not controllable but it is observable

- K(s2 +4) -
8. Forroot locus of the system having G(s) H(s) =—>—""'_ the break away point is

(s+17) (s+3)
(1) —2.26 (2) —1.7655
(3) —2.26,-1.7655 (4) None of the above

59.  Which of the following properties are associated with state transition matrix ?
& o(-t)=¢7'(t)

3 o[f—’} o) ¢t
2

c.olt,~1,)=g(-t,) o(t,).

(1) a,bandc (2) aandb (3) bandc (4) aandc
ST TS AT/ SPACE FOR ROUGH WORK ' |
A P.T.O.
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60. The nyquist plot of the system with open loop transfer function G(s) = 10
s(s +2)(s +5)
will intersect the negative real axis at frequency © =
(1) 2rad/sec (2) 2.5rad/sec
(3) 3.16 rad/sec , (4) b5.2rad/sec

61. The inductance of a moving iron instrument is given by
L=(10+56 - 62)uH
where 8 is deflection from zero position. The spring constant is 12 x 1078 Nm/rad.
Estimate the deflection for a current of 5A.
(1) 96.8° (2) 87.6°
(3) 107.8° (4) 90.8°

62. A Crompton’s potentiometer consists of a resistance dial having 15 steps of 10Q
each and series connected slide wire of 10Q divided into 100 divisions. If the working
current of potentiometer is 10 mA and each division of slide wire can read accurately

th
upto 5 of its span. The range and resolution of potentiometer in volts is

(1) 1.6V,0.2mV | (2) 1.6V,05mV
(3) 1.5V,0.1mV (4) 1.6V, 0.1 mV

63. A CRT has an anode voltage of 2000 V and paralle! deflecting plates 2 cm long
and 5 mm apart. The screen is 30 cm from the centre of the plates. Find the input
voltage required to deflect the beam through 3 cm. The input voltage is applied to
the deflecting plates through amplifiers having an overall gain of 100.

(1) 58V 2 1V
(3) 01V | (4) 10V

64. Inrespect to potential transformers, which of the following statements are true ?
a. The variation of ratio error is almost linear with change in burden.
b. With increase in burden the phase angle becomes more negative.
¢. The phase angle error is increased with increase in frequency.
d. The transformation ratio increases as power factor of secondary burden reduces.
(1} Onlyaandb (2} a,candd
(3) b,candd (4) All are true

FHood1 HIHTATA! AN/ SPACE FOR ROUGH WORK
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65. An oscilloscope is operated in XY mode with X and Y inputs given by
X = 10 sin 314t '

Y = 10 sin (314t+g)

The trace generated is a
(1) Straight line (2) Parabola
(3) Circle - (4) Ellipse

66. A Maxwell's inductance bridge is shown below. The arm ab consists of coil having
inductance of L, and resistance of r, in series with non-inductive resistance ‘R’,
Arm be and dc consists of non-inductive resistance of 100 chm each. Arm ad consists
of standard variable inductor (coil) of resistance 32.7 ohm. Balance is obtained
when standard coil inductance and resistance are 47.8 mH and 1.36 ohm
respectively. What will be inductance and resistance of coil in arm ab ?

o

S
(1) 47.8 mH, 32.7 ohm (2) 32.7 mH, 47.8 ohm
(3) 47.8 mH, 31.34 ohm (4) 47.8mH, 47.8 ohm

67. A moving coil instrument whose resistance is 5 and working current (for full scale
defiection) is 0.015 A, is to be used with a manganin shunt, to measure upto 100 A.
If the instrument coil and leads are made up of copper, the error caused by 10°C
rise in temperature is |

[Temp. coefficients of copper and manganin aré 0.0040 ohm/ohm/°C and 0.00015

ohm/ohm/°C resp.] 3
(1) 4.3% (2} 3.7%
(3) 5.2% 4) 7%

TSI TRINTATS! AR /SPACE FOR ROUGH WORK
A P.T.O.
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68. A 8-bit microprocessor having 16 address lines have memory.
(1) 4kb (2) 16 kb
(3) 64kb (4) 256 kb

69. For the following logic diagram, if control i/p is ‘1’, which of these actions takes

place ?

X4

D

Control=1

— 1 1t

X, .

“clock
(1) Data bit at X, will be shifted into the flip-flop at next clock transition
(2) Data bit at X, will be shifted into the flip-flop at next clock transition
(3) Arbitrarily either X, or X, will be shifted into the flip-fiop at next clock transition

(4) Flip-flop will retain the state at next clock transitioh

70. A differential amplifier has common mode rejection ratio 100. There are two sets of
input signals |
i Vy=+50 pV;V,=-50 pV
ii. V,=1050 pV;V,=950 pV
What is the percentage difference in output voltage obtained for the two sets of
input signals ? '
(1) 0 (2) 10%
(3) 20% (4) 15%

oS HTATATA! ST/ SPACE FOR ROUGH WORK
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71.  For the following CS JFET Amplifier, with G = 5000 pmho, if Vi,=1mV, what is
the output voltage ?

«420V-
Z1u0 3.6kQ
1' ¢ —
10 kO
§ Vout
;J;/ . N
r 7777
(1) 11.3mv (2) 12.3mv
(3) 13.3mV (4) 14.3mV

72.  The 8085 assembly language instruction that stores the content of H and L registers
into the memory locations 2050 H and 2051 H respectively, is

(1) SPHL 2050 H (2) SPHL 2051 H
(3) SHLD 2050 H (4) LHLD 2050 H

73.  An amplifier has open loop voitage gain Av = 90000. If negative feedback of 10 dB
is applied, the voltage feedback gain will be

(1) 30250 - : (2) 28460
(3) 32430 (4) 35590

74. There are two inputs A, B and three feedback outputs x, y, z of an asynchronous
sequential logic system.

If xyzAB = 10011 gives a stable state and input AB changes as 11 —» 10, which of
the following next state gives racing problem ?
(1) 10110 (2) 00110 (38) 11010 (4) 00010
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75. A basic chopper has a resistive load of R =10 Q and input voltage of 220 V. When
converter switch is ON, its voltage drop is 2V and chopping frequency is
1 KHz. For duty cycle of 50%, the average output voltage and rms output voitage is

(1) 110V, 156 V (2) 109V, 154.15V
(3) 110V, 154.15V (4) 109V, 156V

76. A step down chopper is operated in the continuous conduction mode in steady
state with a constant duty ratio D. If V is the magnitude of the d.c. output voltage -

and if V is the magnitude of the d.c. input voltage, the ratio VQ is given by
]

(1) D
2) 1-D

1
®) o

D
4 1°p

27. A dc shunt motor has the armature resistance 0.04 Q) and field winding resistance
of 1002 Motor is coupled to an overhauling load with a torque of 400 N-m. Following

magnetization curve was measured at 600 rpm.

Field
Current (A)

Back Emf (V) | 25 |50|73.5]90] 1025|110 116 [121 125 | 129

Motor is braked by self-excited dynamic braking with a braking resistance of 1.

101 125 \ 15 ‘17.5‘ 20 ‘22.5\ 25

2.51 5 ' 75

The speed at which the motor will hold the load is
(1) 995 rpm

(2) 1015 rpm

(3) 1005 rpm

(4) 670 rpm
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78. A separately excited dc motor driven by converter drive has armature voitage varying
between 0 to 500 V. If motor speed is 1800 rpm at maximum armature voltage and
load torque is 300 N-m, the maximum power rating of the converter is

(1) 28.26 KW (2) 14.13KW
(3) 56.55 KW ~ (4) None of the above

79. The parallel resonance thyristor turn-off circuit shown in the figure has the following
data:

E=180V,R,;=580Q, pulse width t,=1.3ms, the load current is 0.7 times lc(max

The values of L and C are )

1 ™ ; L ¢

E_"_-_ I"_’g L
% Ry

(1) 0.135Hand 0.817 uF
(2) 0.103Hand 0.718 uF
(38) 0.139 H and 0.788 nF
(4) None of the above

80. In respect of insulated gate bipolar transistors, which of the following statements
are valid ?

a. on state voltage drop is small

b. current sharing in paralle! IGBTSs is better than Power MOSFET

c. ltis preferred in applications require high blocking voltages and lower operating
frequencies

d. It has parasitic latch ups
(1) Onlyaandc
(2) Onlybandd
(3) All are valid
(4) a,bandc
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Pick out the correct word to fill in the blank :

Q.No. 201. 1congratulate you __. your grand success.
(1) for (2) at
{3) on (4) about

¥ A I (3) on’’ 3T TR, TR I TR I “(3)" Frie, T WrefeTsHT
3. %. 201 @uta sW-FAF @ %aﬁawmmmﬁﬁmm.

.20 @ @ @ @
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